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Note : Answer the questions from each section as directed. 

Section - A 

Answer any two questions from this section. 	2x20=40 

1. a) What is meant by minima and maxima of a 
function? Identify the conditions for minima and 
maxima. 

b) Find the maxima and minima for the following 
function : 

y = 3x 4  —10x3  + 6x2  +5 

2. a) Explain the fundamental theorem of calculus. 
b) Find the value of the following integral : 

1)3 0 2  —3t + 10)dt 

3. a) Distinguish between probability mass function and 
probability density function. What are the 
conditions that a probability density function must 
satisfy? 

b) Briefly describe a binomial distribution. 

4. a) Explain the concept of confidence interval. 
b) Explain how a two-tailed test is carried out. 
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Section - B 
Answer any five questions from this section. 	5x12=60 

5. Bring out the main features of an input-output table. 

6. What is meant by determinant of a matrix? State the 
properties of determinants. 

7. Define 'product moment correlation coefficient'. What 
are its properties? 

8. Solve the following linear programming problem and 
show it by an appropriate diagram. 
Max. 	z = 6x 1  + 7x2  
Subject to 	2x1  + 3x2  12 

2x1  + x2  8 
(x1 , x2) 0 

9. Define the Cobb-Douglas production function. Show 
that the marginal and average productivities of labour 
input depends on the capital-labour ratio only. 

10. Define a continuous function. What are the properties 
of continuous function. 

11. Distinguish between skewness and kurtosis of a 
frequency distribution. 

12. Write short notes on any two of the following : 
a) Inverse function 
b) Total derivative 
c) Finite integral 
d) t-distribution 

4+4-4+ -0. 
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